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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. General Part-III Examination, 2020

GEOGRAPHY

PAPER-VII
Time Allotted: 1 Hour Full Marks: 25

The figures in the margin indicate full marks.

The word limit mentioned below against each question to be strictly followed by the students:
2 marks-30 words / 2.5 marks-40 words / 5 marks-100 words / 8 marks-220 words /
10 marks-300 words / 15 marks-400 words / 20 marks-475 words.

SECTION-A
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Answer any one question 10x1 =10
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1. Classify Indian soils. Give an account of their distribution with suitable diagram. 2+8=10
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2. Divide India into major agriculture regions and mention their characteristic with 2+8=10
suitable example.
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Answer any one question 10x1 =10

A-(FS 9T ATE Ted e
H1 UICT YD IR A8 |

3. Give a brief account of the condition of Renewable energy production in India. 10
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4. Account for the location of Cotton textile industry in Western India. 10
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5. Give an account of the Socio-economic condition of Naga. 10
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6. What are the major causes of high population growth in India? 10
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7. Write short notes any #two on the following: 2.5%x2=5
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(a) Khadar
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(b) Mangrove
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(c) Race
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(d) Monsoon
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